Hohmann Transfers

Day 3

Now we know how to find the velocity of an object in a circular orbit and an elliptical orbit.
 What else do we need to know to successfully make a Hohmann Transfer?

Label the diagram below to help find the velocity at the perigee and apogee:
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We know that the velocity of an object in an elliptical orbit is
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Using what we know from above and 
[image: image3.wmf], how can we find Vp and Va? (Hint: We want to put our equations in terms of A and P.)

Is the velocity of the object faster at the apogee or perigee? Why?
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